
 

G2 Heat Exchanger 

Item No Description 

1 Flow Tube 

2 Primary Connection Coupling 

3 Tube Sheet 

4 Secondary Connection Coupling 

5 G2 Insulating Shell 

6 HNBR Flow Tube Gasket 

7 Union Insert 1.5" / 50-mm 

8 2.25" Union Locking Nut 

9 Union O-Ring 

10 M6 Black Nut Cover 

11 7-mm OD Tube  
(Stainless Steel or Titanium) 

12 M6 Tie Bar 

13 Tension Spring 

Item No Description 

14 M6 Cap Nut 

15 M6 Flat Washer 

16 M6 Hex Nut 

17 1" BSP Male / Male Brass 
 Primary Nipple Connection  

18 1" BSP female / female Brass  
1-Way Non-Return Valve 

19 EPDM Primary Nipple Gasket Seal 

20 Blanking Cap 

21 24-mm Coin Gasket Seal 

22 Thermostat Connection Cap 

23 EPDM Thermostat Pocket Ferrule 

24 8.5-mm OD Titanium Thermostat Pocket 

25 EPDM Thermostat Pocket Seal 


